M

DOGUMENTATI

CHEF'S COMBI

ADDITIF NOTICE D’INSTALLATION

Fours Mixtes a superposer

ADDITIONAL INSTALLATION MANUAL
Combi Ovens for stacking

N

Ed: 03/2025
3V-490103NI / F49614






CHEFSCOMBI

The essentials / L’essentiel

1 - ACCESSORIES COMPOSITION / COMPOSITION ACCESSOIRES. ...
2 — FLOW CHART / LOGIGRAMME

3 = TECHNICAL DRAWINGS / DESSINS TECHNIQUES ........ooiiiiiiiii i bbb bbb 8
4 — INSTALLATION OF ELECTRIC OVENS / INSTALLATION DES FOURS ELECTRIQUES...........ccoiiiiiiiiiiin s 20
5 — INSTALLATION OF GAS OVENS / INSTALLATION FOURS GAZ .....c.ooiiiiiiiiiii it bbb 28
6 - GUIDELINES FOR HOT CONTAINERS / CONSIGNES MANIPULATION PLATS CHAUDS .......ccoiiiiiiiiiiiii s 38
EN
LRSS AV L SR 1T s PPN 39
L L o I N P 40
L S I I N 40
FR
L0 L L NI R e N S I 43
LC] AN I I PP TP 44
INSTALLATION ...ttt h e b e e b e e s h b e e b s b e e e eh e e s H b e e b e e e H b e e oh e e e R b e e e h 04 e b e e Ha b e e b e e o h b e e Hh e e s R b e e E e e e b e e sa b e e b e e s ba e e sb e e s ab e e b e e ne e 44

CHEF’'SCOMBI Page 3/ 47 3V-490103NI - 03/25



CHEF’'SCOMBI Page 4/ 47 3V-490103NI - 03/25



1 - ACCESSORIES COMPOSITION / COMPOSITION ACCESSOIRES

STANDS / PIETEMENTS

ACIC1PT2S / ACIC2PT2S ACIC1PT1S / ACIC2PT1S ACIC1PMS / ACIC2PMS
CHEF-10NLEG1 / CHEF-10NLEG2 / CHEF-6NLEG1 / CHEF-6NLEG2 CHEF-6NCAST1 / CHEF-6NCAST2

STACKING KIT / KIT DE SUPERPOSITION

VACIC1KSE / VACIC1KSPIE VACIC2KSE / VACIC2KSPIE
CHEF-STACKI1E / CHEF-STACK2E CHEF-STACKI1EL / CHEF-STACK2EL

1 | Reinforced oven top / Dessus renforcé x1 1 | Reinforced oven top / Dessus renforcé x1
2 | Extension feet / Réhausse pied x4 2 | Extension feet / Réhausse pied x4
3 | Drain tube / Tube de vidange (1000mm) x1 3 | Reinforcements / Renforts X2
Drain elbow / Coude de vidange 90° x1 4 | Drain tube / Tube de vidange (1000mm) x1
Drain tube / Tube de vidange (500mm) x1 Drain elbow / Coude de vidange 90° x1

4 | EPDM Hose / Durite EPDM @ 45 x1 Drain tube / Tube de vidange (500mm) x1
5 | Y-Tube Junction/JonctionY @45-45-45| x1 5 | EPDM Hose / Durite EPDM @ 70 x1
6 | EPDM Hose / Durite EPDM @& 45 x1 6 | Y-Tube Junction/JonctionY @70 -45-45 x1
EPDM Hose / Durite EPDM @ 70 - 45 x1 7 | EPDM Hose / Durite EPDM @ 45 x1

7 | Hose clamp / Collier 50.50-56mm x4 EPDM Hose / Durite EPDM @ 70 - 45 x1
8 | Deflector / Déflecteur x1 8 | Hose clamp / Collier 50.50-56mm x3
Hexagonal screw / Vis hexagonale M5x12 X 2 Hose clamp / Collier  72.5-80mm x1

9 | Deflector / Déflecteur x1

Hexagonal screw / Vis hexagonale M5x12 X 2

CHEF’'SCOMBI Page 5/47 3V-490103NI — 03/25



VACIC1KSG / VACIC1KSPIG VACIC2KSG / VACIC2KSPIG
CHEF-STACK1G / CHEF-STACK2G CHEF-STACK1GL / CHEF-STACK2GL

B Bl

O,

L]

©F o]} ®

"® @

1 | Reinforced oven top / Dessus renforcé x1 1 | Reinforced oven top / Dessus renforcé x1
2 | Extension feet / Réhausse pied x4 2 | Extension feet / Réhausse pied x4
3 | Reinforcements / Renforts X2 3 | Reinforcements / Renforts X2
4 | Drain tube / Tube de vidange (1000mm) x1 4 | Drain tube / Tube de vidange (1000mm) x1
Drain elbow / Coude de vidange 90° x1 Drain elbow / Coude de vidange 90° x1
Drain tube / Tube de vidange (500mm) x1 Drain tube / Tube de vidange (500mm) x1

5 | Gas chimney / Cheminée gaz x1 5 | Gas chimney / Cheminée gaz x1
6 | EPDM Hose / Durite EPDM @ 70 x1 6 | EPDM Hose / Durite EPDM @ 70 X2
7 | Stainless steel tube / Tube inox x1 7 | Stainless steel tube / Tube inox x1
8 | EPDM Hose / Durite EPDM @ 45 x1 8 | Hose clamp / Collier 50.50-56mm x3
9 | Hose clamp / Collier 50.50-56mm x1 Hose clamp / Collier 72.5-80mm x3
Hose clamp / Collier  72.5-80mm X2 9 | Deflector / Déflecteur x1

10 | Deflector / Déflecteur x1 Hexagonal screw / Vis hexagonale M5x12 X2
Hexagonal screw / Vis hexagonale M5x12 | x 2 10| Y-Tube Junction/JonctionY @70-45-45 | x1

11 | EPDM Hose / Durite EPDM @ 45 x1

EPDM Hose / Durite EPDM @ 70 - 45 x 1

CHEF’'SCOMBI Page 6 /47 3V-490103NI — 03/25



2 - FLOW CHART / LOGIGRAMME

Chef’'sCombi GN1/1 Chef’sCombi GN2/1

|
1
VICS61E VICS61G | VICS62E VICS62G
1
1
1
1
|
1
VACIC1KSE VACIC1KSG | VACIC2KSE VACIC2KSG
1
1
1
1
1
1
1
1
1
1
|
1
VICS61E VICS101 VICS61G VICS101 ! VICS62E VICS102 VICS62G VICS102
1
1
1
1
1
1
1
1
1
1
1
i
ACIC1PT2S ACIC1PT1S ACIC1IPMS : ACIC2PT2S ACIC2PT1S ACIC2PMS
1
1
Ovens WITH reversed door option / Fours AVEC option porte inversée
Chef’'sCombi GN1/1 Chef’sCombi GN2/1

|

VICS61E-FG VICS61G-FG | VICS62E-FG VICS62G-FG

(OPIC6&1PI) (OPIC6&1PI1) ! (OPIC6&1P1) (OPIC6&1PI)
1
1
1
:
1

VACICIKSPIE VACICIKSPIG I VACIC2KSPIE VACIC2KSPIG
1
1
1
1
1
1
1
— 1
I | |

VICS61E-FG VICS101E-FG VICS61G-FG || VICS101G-FG | | | VICS62E-FG VICS102E-FG VICS62G-FG || VICS102G-FG
(OPIC6&1PI) (OPIC6&1PI1) (OPIC6&1P1) (OPIC6&1PI) | (OPIC6&1PI1) (OPIC6&1PI1) (OPIC6&1PI) (OPIC6&1PI)
1
| | |
1
1
1
1
1
1
1
1
1
:
ACIC1PT2S ACIC1PT1S ACIC1IPMS : ACIC2PT2S ACIC2PT1S ACIC2PMS
1
1
CHEF’'SCOMBI Page 7/ 47 3V-490103NI — 03/25



3 — TECHNICAL DRAWINGS / DESSINS TECHNIQUES

GN 1/1 ELECTRIC OVENS /FOURS ELECTRIQUES GN 1/1

VICS61E + VICS61E + ACIC1PT2S - CHEF-61E + CHEF-61E + CHEF-10NLEG1

33.54"
22.72"

. =,

8] —H = | |

wi

[
—» RS
S
o« z
o ]
)

1.53" 30.39"

VICS61E + VICS61E + ACIC1PT1S - CHEF-61E + CHEF-61E + CHEF-6NLEG1

33.54"
22.72"
B~
=& —
] C=23z] o — |
<

1.53" 30.39"

CHEF’'SCOMBI

. E% L, E= %Z/
©
0 [ T | N
1 1] 1] g
b e 2
! ﬁl— —————————————— -|I|—a N~
Lo 1 ©
] 1
| Fe=Co=——=Co——=C"gps
it i .
L] - 0
| #ri:r —————————————— 1Ir‘ ™ %
1 I 1] Al o
L
| e ik g ©
: [T] [h]
L
N S ar’ P
; [T} |: >
e
1 E:l """""""" 1 g
N i ®
o of B )
- <|
5 —
=3}
~
4.76" 22.16"
35.16
32.52"
29.92"
o
o _
i
~ =
CTwmo T T T T T T T e R
b i 8
=T ey 1 ©
B i
e e
I = ——_— == = H
L i o 3
L. — z
| e = 1|~
Lo i W ¥
|
| Hr -------------- 1}:}"
: [ I
Il I 1 =
______________ 2 N
B I g
e |
| E\”l """""""" ] H:’ N
! I I :
5 8
) o vl o
r = e gl =

>
o 4.76. 22.16"

Page 8/ 47

3V-490103NI - 03/25



VICS61E + VICS61E + ACIC1PMS - CHEF-61E + CHEF-61E + CHEF-6NCAST1

33.54"
22.72"
B~ ‘
i i | S —
& —oH = | |
éi
f::‘ ] B ng; ===
C). f\‘ o | |
o o
1.53" 30.39"

VICS61E + VICS101E + ACIC1PT2S - CHEF-61E + CHEF-101E + CHEF-10NLEG1

33.54"
22.72"

B~ F
=& S ==
8 0 o |
ﬁ:

i

| |

—» =

9.84"

1.53"

30.39"

CHEF’'SCOMBI

15.90"

Page 9/ 47

35.16
32.52"
29.92"
[ B
! 1" 1"
! I I
| b= ===—=—AF=
Fan 1
! b e e |
! [tk HF=
o 1"
| U
| Fommm—mmmm————o A= .
o 1]
! |
| F~——————=——————-— ar=
: (Y} 1
L
! [m============= ars EHE
1 I 1
e
| E:F:::::::::::::::I::
[T 1 [ -
- ______ R —
3 = BE= %
o
~ =
o
| ~
| ™
| ©
|
| =
1 I Ilr |: 52 g
| e S 1o~
[ ||r -:Ir %} Q ~
! |
| F~——————=——————-— ar=
: (Y} 1
_— 1| =
Cn H » S
| e o
[ 1 T N
! 1] 1]
- ____ R — i
-
= ©
oo — compy <
1 —
3
o 5.08 21.53
35.16
32.52"
29.92"
&
©
oi
[o¢} z
™
©
<
~
-
o N
— ©
Q| 1
n
©
]
o
<
oo oo o &
Tr = ] 8l &
- |
5 -
o
~
4.76" 22.16"

3V-490103NI - 03/25



VICS61E + VICS101E + ACIC1PT1S - CHEF-61E + CHEF-101E + CHEF-6NLEG1

4.96"

33.54"
22.72"
B~ ( =Y
o
rH Il \\1 }
| — — - - |
120 = |

1.97

L

33.54"

22.72"

e [

=
ransa | — N

CHEF’'SCOMBI

78.90"

78.90"

|
Pl

Page 10/ 47

21.53"

|
|
|
|
|
| ﬁl— —————————————— _‘HL‘
1 I I
—_———
| ﬁr —————————————— 1”‘r- 7
| H
| S posmrT T T oI TE B
o I
| Fp=mTTTTEmT e IF= h}
: [T} I
| e |
! ﬁi':l """""""" I H\L
! 1] I
-_wa o JT——
<)
~
o
~
in
o ™
NS
| W0
o
&
<
©
™
.|
N ©
o - o ) o
I— —»_\J = 1| g -
4.76" 22.16"
35.16"
32.52"
29.92"
)
~
o
~
in
ol @
NI <
o] W0
n
&
<
<
™
I
T J o — i
s | B
N ©
T o o) — o ] P
=

3V-490103NI - 03/25



GN 2/1 ELECTRIC OVENS / FOURS ELECTRIQUES GN 2/1

VICS62E + VICS62E + ACIC2PT2S - CHEF-62E + CHEF-62E + CHEF-10NLEG2

41.02"
30.20"
B~ ‘
-8] —oH A=A |mI 0]
<
o A==
.
o

1.54"

37.87"

|5.90"

75.87"

7.91"

VICS62E + VICS62E + ACIC2PT1S - CHEF-62E + CHEF-62E + CHEF-6NLEG2

41.02"

30.20"

=]

VI

4.96"

1.97"

| 5.90"

1.54"

37.87"

CHEF’'SCOMBI

L

71.93"

Page 11/ 47

O N
1 I I g
e d
| FF==E=T=S=CSIo====IZ=S AF= ~
[T 11 ©
! N e e e A
! IF==————=———===—=—=== A=
1 [ I N
I Al 5
| |F==—————=—=———==——=== A= ™ 2
; [ [ A 4
Il AL s o
| #E'J'\ur ------------------ = 22
L I
I I "
1 T /| ar= A}
[ [ Z
S SO L Ed
L1l L1l H
! i i S
B j ST @
D g 5 8
S <
< —
-
5.90" 26.89"
41.05"
38.43"
35.84"
R 5
! [ ﬂ 5
! I, I 8
| IF=="=—==————————==—==HF=
[ 1
; . J1
|F==——m—mmmmm——m—————— 4F= H
[T " = <
1 I A1 ﬁ 2
|F==—— === ————== arF= :
[T " @ =~
| e L
! L L
[T 1
| = L N -
[ 1 ar? N
[T 1 =
| i L )]
[ 1 ey ' N
! [ "
eow oo u
-
- ©
v o
o
—

3V-490103NI - 03/25




VICS62E + VICS62E + ACIC2PMS - CHEF-62E + CHEF-62E + CHEF-6NCAST?2

41.02"

30.20"

‘ 4.96"

[Za=a |ml

5.90"
20"

154"

37.87"

71.93"

VICS62E + VICS102E + ACIC2PT2S - CHEF-62E + CHEF-102E + CHEF-10NLEG2

41.02"
30.20"

B~

| — | @

| |
gl 0H T I
<

| W — |

| |

—» HE=—
=y

1.54"

37.87"

CHEF’'SCOMBI

82.83"

=)
R
o
©
S|
®| ™
SIS
n <
<
N
S
(=]
N
.|
— ©
0 o
— = g -
E
jad 6.26 26.26
41.05"
38.43"
35.84"
™
©
Ni
~
-
N N
3 o
©| W
wn
o
@
o
<
S| &
— = g o
. < 4
— -
(o))
~

5.90"

26.89"

Page 12/ 47

3V-490103NI - 03/25




VICS62E + VICS102E + ACIC2PT1S - CHEF-62E + CHEF-102E + CHEF-6NLEG2

41.05"
41.02" 3532::.3
30.20" ;
B | — = A
| PRF=SECoI=SETSISSTTEI=S F=
i i
ST HE
ﬁ Fpr— i
lseoooooooooo it Di
1 I \:n A\I}:
| | e T N
| | } I \:u u}:
[ e T
! I i
= b |
& oH i I ﬁﬂy
v —0
) ————
8 L i :
} %2" It 8
R
o B
S S
ol W0
0
J g
| N &
|
N 5 B %
o FEE=— Eﬁ o r ) — o= g o
.
1.54" 37.87" 3 5.90" 26.89"
VICS62E + VICS102E + ACIC2PMS - CHEF-62E + CHEF-102E + CHEF-6NCAST2
41.05
oy
30.20" :
[
bl 1
| P F=SECT=SETIISTEoI=S qF=
il i
o e
| Elteerrroorarosrores SIS -
L 1
[ Al
| IF= === === -======== ar=
[T 1}
! e e L
! ittt ar® E}i
L 1
! |}| """""""""" 1 ::'
! n 1
Cow o __ P
z TR
& o = 8}
<
8
R :
2
o
=
o 8
~ : 5
[te)
g
——])| D &
I I
i
o B
=2 = e 2o
& 4 )
©
1.54" 37.87" 2 6.26" 26.26"

CHEF’'SCOMBI Page 13/ 47 3V-490103NI - 03/25



GN 1/1 GAS OVENS /FOURS GAZ GN 1/1

VICS61G + VICS61G + ACIC1PT2S - CHEF-61G + CHEF-61G + CHEF-10NLEG1
327" 35.16"

33.54" 29.92"
22.72" :

[ | om =" ey
oH = | |

6.93"

77.78"

69.59"

M3
1

1

1

1

1

1

1

1

1

1

1

{ i
S
v v
&
51.08

53.25

32.97"

I*f
:

:
|
go
i
f
\
14.46
16.63

9.84
7.91" _

|_5.90"

153" 30.39" 4.76" 22.16"

VICS61G + VICS61G + ACIC1PT1S - CHEF-61G + CHEF-61G + CHEF-6NLEG1
3.27" 35.16"

33.54" 20.02"
22.72" *

1
]

——
=

6.93"

73.86"

65.65"

" in
U | =
~
¥

49.31"

29.02"

1.97
10.51
12.68"

.

S
e 476" 22.16"

CHEF’'SCOMBI Page 14 / 47 3V-490103NI - 03/25



3V-490103NI - 03/25

35.16"

22.16"

VICS61G + VICS61G + ACIC1PMS - CHEF-61G + CHEF-61G + CHEF-6NCAST1

.0L°€9 .6G°9L
WELY 9209
.8T'SY +60°89
.20°'62 «98'0Y
.89t
.50t
= == = =
n n n n n n g
et ettt . sobodbodeo2eo o
“ “ — P :
1 I I 1 | Il 1
L] L o
R [ TR T [ (AT = N
Bl T Lo B R
8 g I TR =l g N S o o
N 1 I I 1 E | 1 1 N
I I I I | I I —
Cogopo T m
-or= H -
“““ AT Eessssul N
ot o
L0, W
TTRRN
T o™
.86°€ O
E6'TL +
O} BL78
—
o
N
LL
L
®
+
3 06|
i
ﬁ = S o
= I = J
I c I
3 ] & N 1 .
ik & N .
% g o 3
- P S p
(&) ™ O (3]
e | : !
_ = —
Iz o Qe = = = w
@) o H
il’=" () /i
' ] $ == —
| ] >
967 Wl m nnl_._u €69
+06° e 86
[(e}
0
Q
>

30.39"

1.53"

Page 15/ 47

CHEF’'SCOMBI



VICS61G + VICS101G + ACIC1PT1S - CHEF-61G + CHEF-101G + CHEF-6NLEG1

3.27" 35.16"
32.52"
33.54" >
22.72" 29.92
| B~ JE S
Il (@ Tttt e
| I I
1 I 1l -
I i
[T I
: [T 1]
| pSE T = L
1 I [}
== | b
l ‘ | I I
Lo i
T = S—
S =0z e N || gﬁm 1 %
P I = E= (
o ]
g T m y
| S ©
3 R
|
| 2| &
| in| ™
| — ©
| g Lo
|
: y
| ©
]| ! ®
[ I |
i
& %
> N8
:8 > H T T — = p = EJ' -
3 \ \ ]
\ s
1.53" 30.39" § 4.76" 22.16"
VICS61G + VICS101G + ACIC1PMS - CHEF-61G + CHEF-101G + CHEF-6NCAST1
3.27 35.16"
32.52"
33.54" "
22.72" 29.92
if,i T [z | — | \UATJ
i I
Eg_
8 | .
‘ 3
i g
|
| - | &
| ol ™
| ]
I < n
| s}
|
J |
| &
‘ b
) i ‘ @
| §pereees—=—=——= i ‘
[ JE—
o B
N o an N
8‘; T o HE= : [y — =] g o
I “13

153" 30.39"

r

21.53"

CHEF’'SCOMBI Page 16 / 47 3V-490103NI - 03/25



GN 2/1 GAS OVENS / FOURS GAZ GN 2/1

VICS62G + VICS62G + ACIC2PT2S - CHEF-62G + CHEF-62G + CHEF-10NLEG2

41.02"
30.20"
B~ B B~
—
™ —0H [ A In|
b |
©
v |
f —p HEE=
:%
o

37.87"

VICS62G + VICS62G + ACIC2PT1S - CHEF-62G + CHEF-62G + CHEF-6NLEG2

41.02"

30.20"

= ﬂ

T oI

]
=\

5.90" |

1.97"

37.87"

CHEF’'SCOMBI

L

77.78"

69.59"

51.08
53.25"

14.46"

3.27"

26.89"

32.97"

16.63"

73.86"

65.65"

47.15"
49.31"

29.02"

3.98" ‘

Page 17/ 47

5.90"

26.89"

10.51"

12.68"

3V-490103NI - 03/25



VICS62G + VICS62G + ACIC2PMS - CHEF-62G + CHEF-62G + CHEF-6NCAST2

3.27" 41.05"
38.43"
41.02" 5
30.20" 35.84
B~ B~ B~
ig‘i 0H | T o0 0] ] ) =
A4 o — == { :
J e
~ @ <
]| &
| | %
i
2 g
1.54" 37.87"
VICS62G + VICS102G + ACIC2PT2S - CHEF-62G + CHEF-102G + CHEF-10NLEG2
3.27 41.05
41.02" 38"?‘3
30.20" 35.84'
B~ B~
?0\;,‘7 C@@ = Gz ] [T ]
G |
2 :
@ 8 g
| ——r §
l | <
> HES— 2 — ey o ©
o R s

1.54" 37.87" 5.90" 26.89"

CHEF’'SCOMBI Page 18/ 47 3V-490103NI - 03/25



VICS62G + VICS102G + ACIC2PT1S - CHEF-62G + CHEF-102G + CHEF-6NLEG2

41.02"
30.20"

——
T ]

6.93"

1.97"

L

154" 37.87"

3.27"

80.85"

]
i

VICS62G + VICS102G + ACIC2PMS - CHEF-62G + CHEF-102G + CHEF-6NCAST2

41.02"
30.20"

e
[ la=a)mi 0]

6.93"

T
:
E

Hmn:a EEE=—

1.54" 37.87"

CHEF’'SCOMBI

80.85"

[ i T
on ©
= 8
I ~
=
Rs :
R
i I 5 g
| i
1]
Rili
! =k A N
B — i v
1 1] ™
i #E:“.:::_:::::_::::_7_::1:.3 D
| &:r ------------------ ‘nl" 1
| (1] (1]
Cow u
.| @
&l ©
o o Ol o
= — i gl =
.90" 26.89"
3.27" 41.05"
38.43"
35.84"
©
©
o
~
R
ol ™
= ©
<| 0
o
N
<
©
1)
-
o @
vl o
o «
-

Page 19/ 47

— uasi -
ﬁ

3V-490103NI - 03/25



|4 — INSTALLATION OF ELECTRIC OVENS / INSTALLATION DES FOURS ELECTRIQUES

CHEF’'SCOMBI Page 20/ 47 3V-490103NI — 03/25



o

CHEF’'SCOMBI Page 21/ 47 3V-490103NI — 03/25



4P - GN2/1
10GN 2/1

é

é

6 GN 2/1

-
-

l,@
—_

a
—
il

X1
X1

X1

X1
X4

4Q - GN2/1

CHEF’'SCOMBI

Page 22/ 47

3V-490103NI — 03/25




4R - GN2/1

4s - GN2/1

4pP’-48’ - GN1/1

CHEF’'SCOMBI

Page 23/ 47

3V-490103NI — 03/25




4z -GN 1/1

[ Sl LA
g \

-n
s
-
-
=i

42’ -GN 2/1

CHEF’'SCOMBI Page 24/ 47 3V-490103NI — 03/25




4AB -GN 1/1

4AB’ -GN 2/1

4AE

CHEF’'SCOMBI

Page 25/ 47

3V-490103NI — 03/25




CHEF’'SCOMBI Page 26 / 47 3V-490103NI — 03/25



4AL

GN 1/1
340mm 160mm
13.4" 6.3"

I

oD x1

GN 2/1

150mm 350mm
5.9" 13.78"

CHEF’'SCOMBI

Page 27/ 47

3V-490103NI — 03/25




|5 — INSTALLATION OF GAS OVENS / INSTALLATION FOURS GAZ

5C

65mm*-5
2.56"%.0.2

CHEF’'SCOMBI Page 28 / 47 3V-490103NI — 03/25



CHEF’'SCOMBI Page 29 / 47 3V-490103NI — 03/25



5P
10 GN 2/1

L]

CHEF’'SCOMBI Page 30/ 47 3V-490103NI — 03/25



CHEF’'SCOMBI Page 31/ 47 3V-490103NI — 03/25



5AA -GN 2/1

CHEF’'SCOMBI Page 32/ 47 3V-490103NI — 03/25




5AE

5AD -GN 2/1

5AF

5AG

3V-490103NI — 03/25

Page 33/47

CHEF’'SCOMBI



5AH

5AK - GN 1/1

CHEF’'SCOMBI

Page 34/ 47

3V-490103NI — 03/25




5AM

@D  x1

GN 1/1 GN 2/1

340mm 160mm 150mm 350mm
13.4" 6.3" 5.9" 13.78"

e *| [

5AN

CHEF’'SCOMBI

Page 35/ 47

3V-490103NI — 03/25



CHEF’'SCOMBI

Page 36/ 47

5AS - GN 1/1

——) X1

3V-490103NI — 03/25




CHEF’'SCOMBI Page 37/ 47 3V-490103NI — 03/25



6 - GUIDELINES FOR HOT CONTAINERS / CONSIGNES MANIPULATION PLATS CHAUDS

CHEF’'SCOMBI Page 38/ 47 3V-490103NI — 03/25



ESSENTIAL TOOLS

Chapter
Common

Handling

Installation

Drain

CHEF’'SCOMBI

Tools

Standard hand tool kit
Cutting tools

Set of metric wrenches (flat, pipe,
ratchet with sockets, BTR)
Set of screwdrivers (flat, Phillips)
Pliers (multi-socket, flat, cutting,
stripping)
Measuring tools (tape measure,
calliper, level)
Spanner
Adhesive tape (Scotch)
PPE

Pallet truck

Needle nose plier
Nylon strap wrench

PVC pipe cutters or saws

Features

Retractable blade knife
From 5.5 to 13mm

Philips

Classic tubular level 40cm

Standard

Load range 0-250 kg

Height of lowered forks max. 80mm
Mini @ 2mm

Type: “Facom 138A.30”

0-50mm

Page 39/ 47

Application

Remove packaging: cardboard, plastic straps,
paper, plastic.
Remove the oven covers.

Position the appliance and check that it is level.

Personal protection for the technician.

Move the appliance to its almost final position /
change the base...

Remove the pre-cuts.

Adjust the oven level.

Connect the oven drain to the drainage system.

3V-490103NI — 03/25



GENERAL FEATURES |

Gj Please refer to the main installation manual :

This specific supplementary guide is dedicated exclusively to the assembly and installation of Chef'sCombi in
stacked configuration. It is an addition to the general installation manual and deals solely with the elements
associated with stacking the appliances.

For information on electrical, gas, water and drain connections, please refer to the main installation manual. This
guide only deals with specific connection issues relating to stacked ovens.

Chef'sCombi appliances are designed to guarantee safe use, if they are installed in accordance with the instructions. The correct procedures for
stacking ovens are described in this document.
STACKING CONDITIONS
Stacking Chef'sCombi ovens requires the following:
- A specific base (standard or mobile) designed for the stacked configuration.
- A suitable stacking kit.
POSSIBLE CONFIGURATIONS
The different stacking configurations are shown in the flowchart included in this guide.
Reversed door option:
- Stacked ovens can be fitted with reversed doors. In this case, both appliances must be fitted with this option.
- The necessary accessories (stacking kit) must be compatible with the reversed door option.
SAFETY AND COMPLIANCE
Installation must be carried out by a qualified professional, in compliance with current standards and the instructions provided. Incorrect installation
may lead to safety risks and compromise the performance of the appliance.
For any questions or assistance, please contact the technical service.

BEFORE COMMISSIONING

Instructions for handling hot food

Caution: Risk of burns!
For containers that are filled with liquid or food that liquefies during the cooking process,
operators must be able to see the contents of the container if it is inserted any higher.

If, when your appliance is installed, the maximum working height (highest level of the oven ladder) is greater than 63 inch, a hot plate danger label is
supplied with this manual. Stick this label on the oven 63 inch above the floor. (Fig. 6A)

INSTALLATION

Follow the instructions supplied in the Chef'sCombi installation manual for handling the appliances and the distances to be respected when installing
them in the kitchen.
The procedure is identical whatever the type of specific stand (fixed or with wheels)

Electric ovens:

Prepare your ovens and check the following points:
v The ovens are unpacked but on their shipping pallet.
v You have the various kits required for stacking the ovens (stacking kit, specific base for stacked ovens)
(» Flow chart ).
v The ovens are installed in the installation space provided.

Installing the lower oven
Removing the feet
» Lift the oven from its pallet and insert the 4 extensions under the feet (Fig. 4A).
» Unscrew the 4 oven feet to adjust them to 6.9” (Fig. 4B).
» Insert the special pallet supplied with the stand under the oven (Fig. 4B — C).
» Lift the oven fitted with the pallet using a pallet truck or similar means to gain access to the feet.
» Remove the delivery pallet from the oven (Fig. 4E).
» Unscrew and remove the oven feet (Fig. 4E).
Fitting the specific stand
» ldentify the rear pre-cut-out located under the appliance for passage of the PVC drain pipe. Carefully
remove this part (Fig. 4F).
» Fix the 2 fixing brackets to the oven in place of the feet, using M10x20 TH screws. Caution: Check the
direction of assembly of the brackets (Fig. 4G).
» Unscrew the 4 base cylinders to adjust the stand height to 6.5” (Fig. 4H).

CHEF’'SCOMBI Page 40/ 47 3V-490103NI - 03/25


javascript:edit(2664)

»
»
»
»

»

»
»

»

»

»

»
»
»

»
»
»
»
»

Slide the specific stand under the oven from behind (Fig. 4H).
Secure the stand to the 2 fixing brackets using 4 TH M5x16 screws.
Place the oven with its stand on the floor and remove the pallet.
Tighten the 4 base cylinders to 5.9” (Fig. 4J).
Preparing the lower oven
Remove the left-hand side panel of the oven (Fig. 4K).
- Unscrew and remove the 2 M5 screws located under the panel.
- Remove the panel by unhooking it from the bottom, then slide it down to remove it.
Secure the right side and rear of the oven by taping the panels together and to the door (Fig. 4L).
Remove the oven top from the oven (Fig. 4M-N).
- Loosen the top clamps securing the In valve chimney and the vent hose.
- Unscrew the 6 M5x16 screws securing the top to the rear and front panels.
- Remove the In valve chimney and the vent chimney.
- Remove the oven top
Unscrew one of the two plastic chimneys on the top cover by a quarter turn and remove it. Remove the
gasket (Fig. 40).
If the oven is a GN2/1 version:
- Assemble the 2 reinforcements according to the oven capacity (6 or 10 levels) (Fig. 4P).
- Position the reinforcements on each side, level with the rear (left and right) base fixing brackets (Fig.
4Q-R).
- Install the new top panel, checking that each reinforcement is positioned level with the inserts fixed to
the top (Fig. 4S).
If the oven is a GN1/1 version:
- Install the new oven top panel (Fig. 4P"S’).
Fit the oven top (Fig. 4T).
Place the plastic chimney and its gasket on top of the oven (Fig. 4T).
Insert the In valve chimney into the In valve box gasket and tighten the In valve chimney clamp.
Remember to replace the chimney cover (Fig. 4T).
Plug the vent hose into the welded tube on the top, and tighten the mounting bracket.
Fit the drain pipe and adjust its length if necessary (6-level oven) (Fig. 4U).
Fit the drain elbow onto the drain pipe (Fig. 4V).
Refit the oven's left side panel (Fig. 4W).
Level the oven by screwing/unscrewing the 4 adjustable base plates using an adjustable spanner (Fig. 4X).

Pre-installing the upper oven

»

»
»
»

»

»
»

Preparing the upper oven
Remove the left-hand side panel of (Fig. 4Y).
- Unscrew and remove the 2 M5 screws located under the panel.
- Remove the panel by unhooking it from the bottom, then slide it down to remove it.
Loosen the 2 clamps securing the vent hose and remove it (Fig. 4Z-Z').
Remove stainless steel chimney from the vent.
Identify the rear pre-cut-out for the vent connection. Remove the pre-cut piece (Fig. 4AA).
Installing the vent connection
Fit the hose kit + stainless steel part to connect the lower vent to the upper oven vent. Depending on the
oven, cut the upper oven hose to fit over the vent tube (Fig. 4AB-AB").
Fit the vent chimney tube and secure the hose.
Refit the oven's left side panel (Fig. 4AC).

Stacking the ovens

Positioning the upper oven
Lift the oven from its pallet and insert the 4 extensions under the feet (Fig. 4AE).
Unscrew the 4 oven feet to adjust them to 6.9” (Fig. 4E).
Insert the special pallet supplied with the stand under the oven.
Lift the oven fitted with the pallet using a forklift truck or similar means to gain height to the oven.
Retrieve and position the 4 extensions on the lower oven (Fig. 4AF).
Position the upper oven on the lower oven (Fig. 4AG).
- Insert the 4 feet of the upper oven into the spacers of the extensions of the lower oven.
Remove the pallet (Fig. 4AH).
Fitting the deflector to protect the upper oven vents
Unscrew the screw(s) on the top to secure the deflector.
Position the deflector and secure with two screws (Fig. 4AJ).
Connecting the two ovens
Screw in the cylinders on the upper oven legs to obtain a 4.96” gap between the two ovens (Fig. 4K).
Connect the upper oven vent hose to the lower oven chimney using a hose clamp.
Fit and connect the drain pipe to the elbow on the lower oven (Fig. 4AL-AM).
Level the oven by screwing/unscrewing the 4 adjustable base plates using an adjustable spanner (Fig. 4N).

Gas ovens :

Prepare your ovens and check the following points:

v The ovens are unpacked but on their shipping pallet.
v You have the various kits required for stacking the ovens (stacking kit, specific base for stacked ovens)

(» Flow chart ).

v The ovens are installed in the installation space provided.

Installing the lower oven

»
»
»
»

Removing the feet

Lift the oven from its pallet and insert the 4 extensions under the feet (Fig. 5A).

Unscrew the 4 oven feet to adjust them to 6.9” (Fig. 5B).

Insert the special pallet supplied with the stand under the oven (Fig. 5B — C).

Lift the oven fitted with the pallet using a pallet truck or similar means to gain access to the feet.

CHEF’'SCOMBI Page 41/ 47 3V-490103NI - 03/25



»
»

-

»

»

»
»
»
»
»

-

»

»
»

»

»
»
»

¢ ¥

»
»
»
»

»
»
»
»
»

Remove the delivery pallet from the oven (Fig. 5E).
Unscrew and remove the oven feet (Fig. 5E).
Fitting the specific stand
Identify the rear pre-cut-out located under the appliance for passage of the PVC drain pipe. Carefully
remove this part (Fig. 5F).
Fix the 2 fixing brackets to the oven in place of the feet, using M10x20 TH screws. Caution: Check the
direction of assembly of the brackets (Fig. 5G).
Unscrew the 4 base cylinders to adjust the stand height to 6.5” (Fig. 5H).
Slide the specific stand under the oven from behind (Fig. 5H).
Secure the stand to the 2 fixing brackets using 4 TH M5x16 screws.
Place the oven with its stand on the floor and remove the pallet.
Tighten the 4 base cylinders to 5.9” (Fig. 5J).
Preparing the lower oven
Remove the left-hand side panel of the oven (Fig. 5K).
- Unscrew and remove the 2 M5 screws located under the panel.
- Remove the panel by unhooking it from the bottom, then slide it down to remove it.
Secure the right side and rear of the oven by taping the panels together and to the door (Fig. 5L).
Remove the oven top from the oven (Fig. 5SM-N).
- Loosen the top clamps securing the In valve chimney and the vent hose.
- Unscrew the 6 M5x16 screws securing the top to the rear and front panels.
- Remove the In valve chimney and the vent chimney.
- Remove the oven top
Unscrew one of the two plastic chimneys on the top cover by a quarter turn and remove it. Remove the
gasket (Fig. 50).
Assemble the 2 reinforcements according to the oven capacity (6 or 10 levels) (Fig. 5P).
Position the reinforcements on each side, level with the rear (left and right) base fixing brackets (Fig. 5Q-R).
Install the new top panel, ensuring that the right-hand reinforcement is correctly positioned in the insert
fixed to the top. Secure the left reinforcement to the oven top panel using the TH M5x12 screw fitted on
top (Fig. 5S).
Place the extension tube (stainless steel tube + hose + clamp) into the In valve box gasket (Fig. 5T).
Fit the oven top (Fig. 5U).
Place the plastic chimney and its gasket on top of the oven (Fig. 5U).
Insert the In valve chimney into the hose previously fitted and tighten the In valve chimney clamp. Don't
forget to replace the stainless steel washer and chimney cover (Fig. 5U).
Plug the vent hose into the welded tube on top, and tighten the clamp.
Fit the drain pipe and adjust its length if necessary (6-level oven) (Fig. 5V).
Fit the drain elbow onto the drain (Fig. 5W).
Refit the oven's left side panel (Fig. 4X).
Level the oven by screwing/unscrewing the 4 adjustable base plates using an adjustable spanner (Fig. 4Y).

Pre-installing the upper oven if VICS62G oven (GN2/1)

»

»
»
»

»
»
»

Preparing the upper oven
Remove the left-hand side panel of (Fig. 42).

- Unscrew and remove the 2 M5 screws located under the panel.

- Remove the panel by unhooking it from the bottom, then slide it down to remove it.
Loosen the 2 clamps securing the vent hose and remove it (Fig. 5AA).
Remove stainless steel chimney from the vent.
Identify the rear pre-cut-out for the vent connection. Remove the pre-cut piece (Fig. 5AB).
Installing the vent connection
Fit the hose kit + stainless steel part to connect the lower vent to the upper oven vent (Fig. 5AC).
Fit the vent chimney tube and secure the hose.
Refit the oven's left side panel (Fig. 5AD).

Stacking the ovens

Positioning the upper oven
Lift the oven from its pallet and insert the 4 extensions under the feet (Fig. 5AE).
Unscrew the 4 oven feet to adjust them to 6.9” (Fig. 5AF).
Insert the special pallet supplied with the stand under the oven.
Lift the oven fitted with the pallet using a forklift truck or similar means to gain height to the oven.
Retrieve and position the 4 extensions on the lower oven (Fig. 5AG).
Position the upper oven on the lower oven (Fig. 5AH).
- Insert the 4 feet of the upper oven into the spacers of the extensions of the lower oven.
Remove the pallet (Fig. 5Al).
Fitting the deflector to protect the upper oven vents
Position the deflector and secure with les two screws (Fig. 5AJ).
Connecting the two ovens
Screw in the cylinders on the upper oven legs to obtain a 4.96” gap between the two ovens (Fig. 5AK).
If VICS62G oven (GN2/1):
- Connect the upper oven vent hose to the lower oven vent chimney using a hose clamp (Fig. 5AL).
Fit and connect the drain pipe to the elbow on the lower oven (Fig. 5AM-AN).
Adjust the flue gas chimney on the lower oven (Fig. 5A0).
Slightly loosen the two screws securing the top of the upper oven (Fig. 5AP).
Install the lower oven flue gas chimney on the back of the upper oven (Fig. 5AQ).
Tighten the two top screws and the two bottom screws securing the chimney (Fig. 5AR).
If VICS61G oven (GN1/1):
- Plug the hose into the stainless steel tube of the lower oven vent, and tighten the hose clamp (Fig. 5AS).
Level the oven by screwing/unscrewing the 4 adjustable base plates using an adjustable spanner (Fig. 5AT).

CHEF’'SCOMBI Page 42/ 47 3V-490103NI - 03/25



OUTILS INDISPENSABLES

Chapitre
Commun

Manutention

Mise en place

Vidange

CHEF’'SCOMBI

Ensemble d'outils a main standard
Outils de découpe

Jeu de clés (plates, pipes, cliquet avec
douilles, BTR)
Jeu de tournevis (plats, cruciformes)
Pinces (multiprises, plate, coupantes, a
dénuder)
Outils de mesures (métre, pied a
coulisse, niveau)
Clé a molette
Scotch
EPI

Transpalette

Pointeau
Clé a sangle nylon
Pince coupe tuyau PVC ou scies

Caractéristiques

Couteau a lame rétractable
De 5,5 a 13mm

Philips

Niveau "tubulaire Classic" 40cm

Standard

Charge 0-250 kg

Hauteur des fourches abaissées
maxi 80mm

Mini @ 2mm

Type "Facom 138A.30"

0-50mm

Page 43/ 47

Application

Retirer I'emballage : carton, sangles plastiques,
papier, plastiques.
Démonter les habillages du four.

Positionner I'appareil, et contrler la mise a
niveau.

Protection individuelle du technicien.
Déplacer I'appareil a son emplacement quasi
définitif / changer de pietement...

Retirer les prédécoupes.
Régler la mise a niveau du four.
Connecter la vidange du four au réseau

d'évacuation.

3V-490103NI — 03/25




GENERALITES

Gj Référez-vous au manuel d’installation principal :

Ce guide spécifique complémentaire est exclusivement dédié au montage et a l'installation des fours mixtes
Chef'sCombi en configuration superposée. Il s’ajoute au manuel d’installation général et traite uniquement des
éléments liés a la superposition des appareils.

Pour les informations concernant les raccordements électriques, gaz, eau et vidange, veuillez consulter le
manuel d’installation principal. Ce guide aborde uniquement les cas particuliers de raccordement en lien avec la
superposition des fours.

Les appareils Chef'sCombi sont congus pour garantir une utilisation sécurisée, a condition que leur installation soit réalisée conformément aux
instructions. Les procédures correctes pour la superposition des fours sont décrites dans le présent document.
CONDITIONS DE SUPERPOSITION
La superposition des fours Chef'sCombi requiert les éléments suivants :
- Un piétement spécifique (standard ou mobile) congu pour la configuration superposée.
- Un kit de superposition adapté.
CONFIGURATIONS POSSIBLES
Les différentes configurations de superposition sont présentées sous forme de logigramme inclus dans ce guide.
Option porte inversée :
- Les fours superposés peuvent étre équipés de portes inversées. Dans ce cas, il est obligatoire que les deux appareils disposent de
cette option.
- L'accessoires nécessaire (kit de superposition) doit étre compatible avec I'option porte inversée.
SECURITE ET CONFORMITE
L’installation doit étre réalisée par un professionnel qualifié, en respectant les normes en vigueur et les instructions fournies. Une installation incorrecte
peut entrainer des risques pour la sécurité et compromettre les performances des appareils.
Pour toute question ou assistance, veuillez contacter le service technique.

AVANT LA MISE EN SERVICE

Consigne manipulation plats chauds

Attention : Risque de bralures !

Lorsque les récipients sont remplis de liquide ou d’aliments qui se liquéfient pendant la
cuisson, I'opérateur doit absolument voir le contenu du récipient inséré le plus haut dans
I'enceinte de cuisson.

Dans le cas ou lors de l'installation de votre appareil, la hauteur de travail maximale (niveau le plus haut de I'échelle de votre four) est supérieure a
1600mm, une étiquette de danger plaque chaude est livrée avec ce manuel. Coller cette étiquette sur le four a 1600 mm du sol. (Fig. 6A)

INSTALLATION

Respecter les consignes données dans le manuel d’installation des Chef'sCombi pour la manutention des appareils et les distances a respecter a la
mise en place dans la cuisine.
La procédure est identique quel que soit le type de pietement spécifique (fixe ou a roulettes).

Fours Electriques :

Préparez vos fours et vérifiez les points ci-dessous :
v Les fours sont délaissés de leur emballage mais sur leur palette d’expédition.
v Vous avez les différents kits nécessaires a la superposition des fours (Kit de superposition, piétement
spécifique fours superposés) (» Logigramme)
v’ Les fours sont installés dans I'espace d’installation prévu.

Installation du four inférieur

Retrait des pieds

» Soulever le four de sa palette et insérer les 4 réhausses sous les pieds (Fig. 4A).

» Dévissez les 4 pieds du four afin de les régler & 150mm (Fig. 4B).

» Insérez sous le four la palette spécifique livrée avec le piétement (Fig. 4B — C).

» Soulevez le four équipé de la palette avec un transpalette ou un moyen similaire pour accéder aux pieds.

» Retirer la palette de livraison du four (Fig. 4E).

» Dévissez et retirez les pieds du fours (Fig. 4E).
Montage du piétement spécifique

» ldentifiez la prédécoupe arriére située sous I'appareil pour le passage du tube PVC de vidange. Retirez
soigneusement cette piece (Fig. 4F).

CHEF’'SCOMBI Page 44 | 47 3V-490103NI - 03/25


javascript:edit(2664)

»

»
»
»
»
»

»

»
»

»

»

»
»
»

»
»
»
»
»

Fixez les 2 pattes de fixation sur le four en lieu et place des pieds, a l'aide des vis TH M10x20. Attention :
Vérifiez le sens de montage des pattes (Fig. 4G).
Dévissez les 4 vérins du piétement afin de régler la hauteur du piétement a 165mm (Fig. 4H).
Positionnez le piétement spécifique sous le four en le glissant par I'arriére (Fig. 4H).
Fixez le piétement aux 2 pattes de fixation avec 4 vis TH M5x16.
Déposez le four avec son piétement sur le sol et retirez la palette.
Vissez les 4 vérins du piétement pour les régler a 150mm (Fig. 4J).
Préparation du four inférieur
Retirez le panneau latéral gauche du four (Fig. 4K).
- Dévissez et retirez les 2 vis M5 situées sous le panneau.
- Retirez le panneau en le décrochant par le bas, puis faites-le glisser vers le bas pour le retirer
complétement
Immobilisez le coté latéral droit et I'arriere du four en scotchant les panneaux entre eux et a la porte (Fig. 4L).
Retirez le dessus du four du four (Fig. 4M-N).
- Desserrez les colliers supérieurs de fixation de la cheminée du clapet In et de la durite de I'évent.
- Dévissez les 6 vis M5x16 fixant le dessus a I'habillage arriére et avant
- Retirez la cheminée du clapet In et la cheminée de I'évent.
- Retirez le dessus du four
Dévissez d’'un quart de tour I'une des deux cheminées plastique de I'habillage supérieur et la retirer.
Récupérez le joint (Fig. 40).
Si le four est une version GN2/1 :
- Assemblez les 2 renforts selon la capacité du four (6 ou 10 niveaux) (Fig. 4P).
- Positionnez les renforts de chaque c6té, au niveau des pattes arriere (gauche et droite) de fixation du
piétement (Fig. 4Q-R).
- Installer le nouveau panneau de dessus en vérifiant que chaque renfort vient se positionner au niveau
des inserts fixés sur le dessus (Fig. 4S).
Fixez le dessus du four (Fig. 4T).
Positionnez la cheminée plastique + son joint sur le dessus du four (Fig. 4T).
Insérez la cheminée du Clapet In dans le joint de la boite du clapet In et serrez le collier d’immobilisation
de la cheminée du clapet In. N'oubliez pas de remettre en place le capot de la cheminée (Fig. 4T).
Emmanchez la durite de I'évent dans le tube soudé sur le dessus, et serrez le collier de fixation.
Installez le tube de vidange et adaptez sa longueur si nécessaire (four 6 niveaux) (Fig. 4U).
Emmanchez sur le tube de vidange le coude de vidange (Fig. 4V).
Remettez en place le panneau latéral gauche du four (Fig. 4W).
Mettez de niveau le four en vissant/dévissant les 4 embases réglables du pietement a I'aide d’'une clé de
type « clé a molette » (Fig. 4X).

Pré-installation du four supérieur

»

»
»
»

»

»
»

Préparation du four supérieur
Retirez le panneau latéral gauche (Fig. 4Y).
- Dévissez et retirez les 2 vis M5 situées sous le panneau.
- Retirez le panneau en le décrochant par le bas, puis faites-le glisser vers le bas pour le retirer
completement
Desserrez les 2 colliers de fixation de la durite de I'évent et retirez-la (Fig. 4Z-2°).
Retirez la cheminée inox de I'évent.
Identifiez la prédécoupe arriere pour la connexion de I'évent. Retirez la piéce prédécoupée (Fig. 4AA).
Installation du raccordement de I'évent
Mettez en place le kit durite + piéce inox pour raccorder I'évent inférieur a celui du four supérieur. Selon le
four, découpé la durite du four supérieure pour 'emmanchez sur le tube de I'évent (Fig. 4AB-AB’).
Mettez en place le tube de cheminée de I'évent et fixer la durite.
Remettez en place le panneau latéral gauche du four (Fig. 4AC).

Superposition des fours

Positionnement du four supérieur
Soulever le four de sa palette et insérer les 4 réhausses sous les pieds (Fig. 4AD).
Dévissez les 4 pieds du four afin de les régler a 150mm (Fig. 4E).
Insérez sous le four la palette spécifique livrée avec le piétement.
Soulevez le four équipé de la palette avec un chariot élévateur ou un moyen similaire pour mettre a
hauteur le four.
Récupérez et positionnez les 4 réhausses sur le four inférieur (Fig. 4AF).
Positionnez le four supérieur sur le four inférieur (Fig. 4AG).
- Insérez les 4 pieds du four supérieur dans les entretoises des réhausses du four inférieur.
Retirez la palette (Fig. 4AH).
Montage du déflecteur de protection des ouies du four supérieur
Dévissez la ou les vis sur le dessus pour fixer le déflecteur.
Positionnez le déflecteur et le fixer par deux vis (Fig. 4AJ).
Raccordement entre les deux fours
Vissez les vérins des pieds du four supérieur pour obtenir une cote de 126mm entre les deux fours (Fig. 4K).
Raccordez la durite de I'évent du four supérieur a la cheminée du four inférieur avec un collier.
Adaptez et raccordez le tube de vidange au coude du four inférieur (Fig. 4AL-AM).
Mettez de niveau le four supérieur en vissant/dévissant les 4 embases réglables du pietement a I'aide
d’une clé de type « clé a molette » (Fig. 4N).

CHEF’'SCOMBI Page 45/ 47

3V-490103NI - 03/25



Fours Gaz :

Préparez vos fours et vérifiez les points ci-dessous :

v’ Les fours sont délaissés de leur emballage mais sur leur palette d’expédition.

v Vous disposez de tous les kits nécessaires a la superposition des fours (Kit de superposition, piétement
spécifique pour fours superposés) (» Logigramme)

v’ Les fours sont installés dans I'espace d'installation prévu.

Installation du four inférieur

»
»
»
»
»
»

»

»

»
»
»
»
»

»

»
»

»

»
»

»

»
»
»
»

»
»
»
»
»

Retrait des pieds

Soulever le four de sa palette et insérer les 4 réhausses sous les pieds (Fig. 5A).

Dévissez les 4 pieds du four afin de les régler a 150mm (Fig. 5B).

Insérez sous le four la palette spécifique livrée avec le piétement (Fig. 5B - C).

Soulevez le four équipé de la palette a I'aide d’'un transpalette ou un moyen similaire pour accéder aux pieds.
Retirer la palette de livraison du four (Fig. 5E).

Dévissez et retirez les pieds du four (Fig. 5E).

Montage du pietement spécifique

Identifiez la prédécoupe arriére située sous I'appareil pour le passage du tube PVC de vidange. Retirez
soigneusement cette piece (Fig. 5F).

Fixez les 2 pattes de fixation sur le four en lieu et place des pieds, a l'aide des vis TH M10x20. Attention :
Vérifiez le sens de montage des pattes (Fig. 5G).

Dévissez les 4 vérins du piétement afin de régler la hauteur du piétement a 165mm (Fig. 5H).
Positionnez le piétement spécifique sous le four en le glissant par I'arriere (Fig. 5H).

Fixez le piétement aux 2 pattes de fixation avec 4 vis TH M5x16.

Déposez le four avec son piétement sur le sol et retirez la palette.

Vissez les 4 vérins du piétement pour les régler a 150mm (Fig. 5J).

Préparation du four inférieur

Retirez le panneau latéral gauche du four (Fig. 5K).

- Dévissez et retirez les 2 vis M5 situées sous le panneau.

- Décrochez le panneau par le bas, puis faites-le glisser vers le bas pour le retirer complétement.
Immobilisez le coté latéral droit et I'arriere du four en scotchant les panneaux entre eux et a la porte (Fig. 5L).
Retirez le dessus du four (Fig. 5M-N).

- Desserrez les colliers supérieurs de fixation de la cheminée du clapet In et de la durite de I'évent.

- Dévissez les 6 vis M5x16 fixant le dessus a I'habillage arriére et avant.

- Retirez la cheminée du clapet In et la cheminée de I'évent.

- Retirez le dessus du four.

Dévissez d’'un quart de tour I'une des deux cheminées plastique du dessus démonté précédemment et la
retirer. Récupérez le joint (Fig. 50).

Assemblez les 2 renforts selon la capacité du four (6 ou 10 niveaux) (Fig. 5P).

Positionnez les renforts de chaque c6té, au niveau des pattes arriere (gauche et droite) de fixation du
piétement (Fig. 5Q-R).

Installer le nouveau panneau de dessus en s’assurant que le renfort droit se positionne correctement dans
l'insert fixé sur le dessus. Fixer le renfort gauche au panneau de dessus du four a 'aide de la vis TH
M5x12 montée sur le dessus (Fig. 5S).

Positionnez la rallonge (tube inox + durite + collier) dans le joint de la boite du clapet In (Fig. 5T).

Fixez le dessus du four (Fig. 5U).

Montez la cheminée plastique + son joint sur le dessus du four (Fig. 5U).

Insérez la cheminée du Clapet In dans la durite précédemment montée et serrez le collier d'immobilisation
de la cheminée du clapet In. N'oubliez pas de remettre en place la rondelle inox et le capot de la
cheminée (Fig. 5V).

Emmanchez la durite de I'évent dans le tube soudé sur le dessus, et serrez le collier de fixation.

Installez le tube de vidange et ajustez sa longueur si nécessaire (four 6 niveaux) (Fig. 5V).

Emmanchez le coude de vidange sur le tube de vidange (Fig. 5W).

Remettez en place le panneau latéral gauche du four (Fig. 5X).

Mettez le four de niveau en vissant/dévissant les 4 embases réglables du pietement a I'aide d’'une clé de
type « clé a molette » (Fig. 5Y).

Pré-installation du four supérieur si four VICS62G (GN2/1)

»

»
»
»

»
»
»

Préparation du four supérieur
Retirez le panneau latéral gauche (Fig. 5Z).

- Dévissez et retirez les 2 vis M5 situées sous le panneau.

- Décrochez le panneau par le bas, puis faites-le glisser vers le bas pour le retirer complétement.
Desserrez les 2 colliers de fixation de la durite de I'évent et retirez-la (Fig. 5AA).
Retirez la cheminée inox de I'évent.
Identifiez la prédécoupe arriére pour la connexion de I'évent et retirez la piece prédécoupée (Fig. 5AB).
Installation du raccordement de I'évent
Mettez en place le kit durite + piéce inox pour raccorder I'évent inférieur a celui du four supérieur (Fig. 5AC).
Mettez en place le tube de cheminée de I'évent et fixez le.
Remettez en place le panneau latéral gauche du four (Fig. 5AD).

Superposition des fours

»
»
»
»

»
»

»

Positionnement du four supérieur
Soulever le four de sa palette et insérer les 4 réhausses sous les pieds (Fig. S5AE).
Dévissez les 4 pieds du four afin de les régler a 176mm (Fig. 5AF).
Insérez sous le four la palette spécifique livrée avec le piétement.
Soulevez le four équipé de la palette avec un chariot élévateur ou un moyen similaire pour mettre a
hauteur le four.
Récupérez et positionnez les 4 réhausses sur le four inférieur (Fig. 5AG).
Placez le four supérieur sur le four inférieur (Fig. 5AH).
- Insérez les 4 pieds du four supérieur dans les entretoises des réhausses du four inférieur.
Retirez la palette (Fig. 5Al).

CHEF’'SCOMBI Page 46 / 47

3V-490103NI - 03/25



»

»
»

»
»
»
»

»
»

»

Montage du déflecteur de protection des ouies du four supérieur
Positionnez le déflecteur et fixer le avec deux vis (Fig. 5AJ).
Raccordement entre les deux fours
Vissez les vérins des pieds du four supérieur pour obtenir une cote de 126mm entre les deux fours (Fig. 5AK).
Si four VICS62G (GN2/1) :
- Raccordez la durite de I'évent du four supérieur a la cheminée de I'évent du four inférieur a 'aide
d’un collier (Fig. 5AL).
Adaptez et raccordez le tube de vidange au coude du four inférieur (Fig. 5AM-AN).
Adaptez la cheminée d’évacuation des gaz de combustion du four inférieur (Fig. 5A0).
Dévissez légerement les deux vis de fixation du dessus du four supérieur (Fig. 5AP).
Montez la cheminée d’évacuation des gaz de combustion du four inférieur sur I'arriére du four supérieur
(Fig. 5AQ).
Revissez les deux vis du dessus et les deux vis inférieures d'immobilisation de la cheminée (Fig. 5AR).
Si four VICS61G (GN1/1) :
- Emmanchez la durite dans le tube inox de I'évent du four inférieur, et serrez le collier de fixation (Fig.
5AS).
Mettez de niveau le four supérieur en vissant/dévissant les 4 embases réglables du pietement a I'aide
d’une clé de type « clé a molette » (Fig. 5AT).

CHEF’'SCOMBI Page 47/ 47

3V-490103NI - 03/25



